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Aufgabe 1

Dividiere schriftlich. Fülle die Lücken.

a)

5 7 0 4 : 9 2 = 6 2

5 5 6·92=552

1

1 8 2·92=184

0

b)

7 6 1 3 : 2 3 = 3 3 1

6 3·23=69

6 9 3·23=69

2

2 1·23=23

c)

7 2 3 2 : 6 4 = 1 1 3

6 4 1·64=64

1·64=64

1 9

1 9 3·64=192

0

d)

9 4 3 8 : 1 1 = 8 5 8

8 8·11=88

6

5 5·11=55

8·11=88

Aufgabe 2

Dividiere schriftlich. Fülle die Lücken.

a)

5 0 9 : 9 4 =

4 7 0

3 9
b)

5 3 1 : 7 2 =

5 0 4

2 7

c)

5 4 4 : 8 3 =

4 9 8

4 6
d)

6 7 2 : 8 0 =

6 4 0

3 2

Aufgabe 3

Dividiere schriftlich. Fülle die Lücken.

a)

7 4 2 : 3 2 =

2·32=64

3·32=96
b)

4 5 0 : 1 5 =

3·15=45

0·15=0
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c)

1 5 2 : 7 6 =

2·76=152
d)

9 7 2 : 1 8 =

5·18=90

4·18=72

Aufgabe 4

Dividiere schriftlich. Fülle die Lücken.

a)

3 9 0 2 : 6 8 = 5

3 5·68=340

0

4 6 7·68=476

2

b)

9 4 9 5 : 2 0 = 4 7 4

0 4·20=80

4 0 7·20=140

0 4·20=80

5

c)

1 9 4 4 : 5 4 = 3

2 3·54=162

4

6·54=324

0

d)

7 5 5 2 : 4 2 = 1 9

2 1·42=42

3 3

9 7·42=294

4

3 8 9·42=378

3 4

Viel Erfolg!
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